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Sl. No.1
QBID:9001

Which of the following Indian School of Philosophy does NOT reject Vedic Authority?

1. Carvaka Philosophy
2. Bauddha Philosophy
3. Sankhya Philosophy
4. Jaina Philosophy

(Option 1 [45101]) 1
(Option 2[45102]) 2
(Option 3 [45103]) 3
(Option 4[45104]) 4

SRR & FEfaRed YR 9aEl § 1 ®F dfee MTER & FR I6] &edl 6 ?

1. I1aiP g7
2.9 o=
3. giET a2
4.5 g2

(Option 1[45101]) 1
(Option 2 [45102]) 2
(Option 3 [45103]) 3

(Option 4 [45104]) 4
Answer Given by Candidate : 3

Sl. No.2
QBID:9002

Which of the following does NOT belong to the concept of social movement?

1. Relative Deprivation Theory
2. Resource mobilization theory
3. Political process theory

4. Normative theory

(Option 1 [45105]) 1
(Option 2 [45106]) 2
(Option 3 [45107]) 3
(Option 4 [45108]) 4



Fofafed 4 9 oF-91 Rigia gmifoe 1foRiiadl $f SEyRm J S69d T8l & ?

1. Qrufées d=m fasia
2. 9reE JeH @1 fasid
3. At ufdan frgtd
4. AH®I [¥gid

(Option 1 [45105]) 1
(Option 2 [45106]) 2
(Option 3 [45107]) 3

(Option 4 [45108]) 4
Answer Given by Candidate : 4

Sl. No.3
QBID:9003

Select the correct 4th, 8th & 12th link in the twelve links of suffering according to Bauddha Philosophy:.

1. Ignorance, six sense organs, craving

2. Mind-body organism, craving, suffering

3. Six sense organs, sense experience, suffering
4. Consciousness, craving, suffering

(Option 1[45109]) 1
(Option 2 [45110]) 2
(Option 3 [45111]) 3
(Option 4 [45112]) 4

415 ¥ & 3F9R G:W 31 9Rg ®iedl & I 9reff, 3madl 3R SRedl w2l @1 9el 99 Sited |

1. ST, @: Sfad 3T, Jun

2. 79-TR TueH, gul, |

3. 9 35y o7, 35T 3Hd, g™
4, T, O, g

(Option 1[45109]) 1
(Option 2 [45110]) 2
(Option 3[45111]) 3

(Option 4 [45112]) 4
Answer Given by Candidate : 3

Sl. No.4
QBID:9004

Spinoza is identified with the idealist tradition because-

1. he insisted upon famous Cartesian inference, 'l think, therefore | am’.

2. he insisted that there is an unchanging and abiding existence undergirding all things, one of the chief attributes of
which is thought

3. he insisted upon the primacy of self

4. he insisted upon the concepts of Monads

(Option 1[45113]) 1
(Option 2 [45114]) 2



(Option 3 [45115]) 3
(Option 4 [45116]) 4

T BT A=A ORI & Ty UgdH & Sl & Fai :

1. 35 39 WIS SIS 3AH R 94 fegr o1- -H fidq deal g safau H g1

2. 35 3H R 99 1641 1 3ea AIRTa-21d 2R ears &, f59s siatia 9+l I 981y &, e ge te g1 0
gl

3. 35 AT (Ueh) B TEal R 5d fean|

4. 35 AU BT SAYRON W e f&an|

(Option 1[45113]) 1
(Option 2 [45114]) 2
(Option 3 [45115]) 3

(Option 4 [45116]) 4
Answer Given by Candidate : 2

Sl. No.5
QBID:9005

To understand politics, Rational Choice Theory is basically explaining social phenomenon as an outcome of individual action

that can, in some way be construed as rational. In this context, which of the following is not the key element in all rational
choice explanations.

1. Individual preferences
2. Beliefs of the society
3. Individual constraints
4. Individual beliefs

(Option 1 [45117]) 1
(Option 2 [45118]) 2
(Option 3 [45119]) 3
(Option 4 [45120]) 4

IoHIfd @ GHEH & foTU difdd faeed Gid Jaa: 3 dAladTd B/l & Hidbd & U § gHifeis UReed] &l saRaid

&l & Sl P! el adD] ¥ abiTd GHgl off 9dbdl 5| 39 UK H, Fafaied § 9 @F t@ 94 aifde 997 aaresil & ga
T8l e ?

1. Al Td Udg
2. 9HTS & Ay
3. 3gfaa® OEg
4. HfaTd fayrg

(Option 1 [45117]) 1

(Option 2 [45118]) 2

(Option 3 [45119]) 3

(Option 4 [45120]) 4
Answer Given by Candidate : 2

Sl. No.6
QBID:9006



Before starting a school for slum dwellers, the government is required to conduct:

1. Cost effective analysis
2. Cost benefit analysis
3. Zero cost analysis

4. Budget analysis

(Option 1 [45121]) 1
(Option 2 [45122]) 2
(Option 3 [45123]) 3
(Option 4 [45124]) 4

il Sl H fSererd EieH § Usd WReR 3 9 S S SUfEd &

1. T WHTE! e
2. AFTd-arH o=y
3. B9 AT fageryor
4. oic gz

(Option 1 [45121]) 1
(Option 2 [45122]) 2
(Option 3 [45123]) 3
(Option 4 [45124]) 4
Answer Given by Candidate : 1

Sl. No.7
QBID:9007

Which among the following is NOT a source of the direct monetary cost for acquiring education?

1. Tuition Fee

2. Book Purchased

3. Forgone Opportunities
4. Transport Cost

(Option 1 [45125]) 1
(Option 2 [45126]) 2
(Option 3 [45127]) 3
(Option 4 [45128]) 4

Rrem wrd & © Fafafaa © 9 o1 vy onfife and a1 did T8l g 2

1. 181 e

2. G{IE1 TS gid
3. 8IS RU T 3@
4. T AR

(Option 1 [45125]) 1

(Option 2 [45126]) 2

(Option 3 [45127]) 3

(Option 4 [45128]) 4
Answer Given by Candidate : 3



Sl. No.8
QBID:9008

The vision of National Knowledge Commission (NKC) was to -

1. examine the existing system of secondary education in the country.
2. develop a common school system.

3. develop a sense of self reliance and dignity of the individual.

4. enable the development of a vibrant knowledge based society.

(Option 1[45129]) 1
(Option 2 [45130]) 2
(Option 3 [45131]) 3
(Option 4 [45132]) 4

T T M (T & W) 3T 987 JE3T W &:

1. 2 et e @1 S0 a1 S Wi SAl

2. U 9 (eTer s0ayT (B 1AH Whd [9%eH) &1 fa@ems S
3. o o SHIH SR ARl & a1Y &1 [ &A1

4. U GRIGd JH NYIRG GH & [adbd B GH FH]

(Option 1 [45129]) 1

(Option 2 [45130]) 2

(Option 3 [45131]) 3

(Option 4 [45132]) 4
Answer Given by Candidate : 4

Sl. No.9
QBID:9009

‘Empircal’ means

1. Based on Research questions
2. Based on data
3. Based on hypothesis

4. Based on controlling variables

(Option 1 [45133]) 1
(Option 2 [45134]) 2
(Option 3 [45135]) 3
(Option 4 [45136]) 4

HIHATHD B oY §

1. 1Y R WAl O SH1eTRd
2. Hidsl gT HURA

3. Ui edHl U AH1EMed

4. R =1 O anuTid

(Option 1 [45133]) 1

(Option 2 [45134]) 2

(Option 3 [45135]) 3

(Option 4 [45136]) 4
Answer Given by Candidate : 3



Sl. No.10
QBID:9010

Early childhood experiences are critical especially for emotional/sacial/cognitive development, is influenced by the thoughts
of

1. Carl Rogers

2. Edwin Gordon

3. Sigmund Freud
4, Max Wertheimer

(Option 1 [45137]) 1
(Option 2 [45138]) 2
(Option 3 [45139]) 3
(Option 4 [45140]) 4

URIYS STa®] & HIHT Sdaed, THTus, STHE [dHE ® (oY [93Y $U ¥ 58y 8ld &, 98 CACEIRE]
gHIfad B

1. BT Aol
2. uefEa g
3. s Wi
4. B0 aEimR

(Option 1[45137]) 1
(Option 2 [45138]) 2
(Option 3[45139]) 3

(Option 4 [45140]) 4
Answer Given by Candidate : 1

Sl. No.11
QBID:9011

Who gave the theory of psychosocial development?

1. Benjamin Spoch
2. Erik Erikson
3. Jean Erikson
4. Benjamin Bloom

(Option 1 [45145]) 1
(Option 2 [45146]) 2
(Option 3 [45147]) 3
(Option 4 [45148]) 4

TH-gfos fderd &1 fagid e ufaqufed fean »

1. S Hid
2. Ui UREEH

ERCIERNEG ]
4, S0 &=H

(Option 1 [45145]) 1
(Option 2 [45146]) 2
(Option 3 [45147]) 3



(Option 4 [45148]) 4
Answer Given by Candidate : 2

Sl. No.12
QBID:9012

For Mastery Goal Qrientation, which one of the following is considered as a standard used under avoidance focus?

1. Perfectionists do not make mistakes
2. Self improvement

3. Winning the competition

4. Be the slowest

(Option 1[45149]) 1
(Option 2 [45150]) 2
(Option 3 [45151]) 3
(Option 4 [45152]) 4

Iyl aed Hfufaary @R Ma ez & o, Fafafed 3 @ fad w6ite—g Bied & ded Us Ugad AHd (RUss
&) HHI A1 § 7

1. UiAra] (RUbaRIAR) Tefaal T8l &d
2. |W-guUR

3. Ui &1 Sfian

4. gaY iEr g

(Option 1[45149]) 1

(Option 2 [45150]) 2

(Option 3 [45151]) 3

(Option 4 [45152]) 4
Answer Given by Candidate : 2

Sl. No.13
QBID:9013

The establishment of DIETs was the result of recommondation by

1. University Education Commission, 1948
2. Education Commission (1964-66)

3. The National Policy on Education, 1968
4. National Policy an Education, 1986

(Option 1 [45153]) 1
(Option 2 [45154]) 2
(Option 3 [45155]) 3
(Option 4 [45156]) 4

ST5e (31.3113.5.21) B WY FEfRad H ¥ 6y &1 =M1 & U W&y & 7T 2

1. faufaeerg fen g, 1048
2. TRI&IT SfRIFT (1964-66)

3. TRren @1 g ifd, 1968

4. TRe @t WFTT =it 1986

(Option 1 [45153]) 1



(Option 2 [45154]) 2
(Option 3 [45155]) 3

(Option 4 [45156]) 4
Answer Given by Candidate : 4

Sl. No.14
QBID:9014

The Teacher Education Institutes are accreditated by:

1. QCI

2. NCTE

3. NCERT
4. NAAC

(Option 1 [45157]) 1
(Option 2 [45158]) 2
(Option 3 [45159]) 3
(Option 4 [45160]) 4

e e g Fefafea o @ Fae g yafia & 2

1. T .
2. AR
3. T HE AR
4. TR

(Option 1 [45157]) 1

(Option 2 [45158]) 2

(Option 3 [45159]) 3

(Option 4 [45160]) 4
Answer Given by Candidate : 4

Sl. No.15
QBID:9015

As per the National Education Policy-2020, which of the following is correct about continuous professional development of
school teachers?

1. Every school teacher requires minimum 40 hours of continuous professional development every year

2. Every school teacher requires minimum 50 hours of continucus professional development per year

3. Every school teacher requires minimum 40 hours of continuous professional development in his/her career
4. Continuous professional development is not essential for school teachers

(Option 1 [45161]) 1
(Option 2 [45162]) 2
(Option 3[45163]) 3
(Option 4 [45164]) 4



T el if - 2020 & FFER, PG H 9 B 91 Sy e Rigm! & gad g [ded & Ged H 3l & ?

1. U faererdl ST i Ufday 40 U< & Udd giad [ddry bRisH I - Bl

2. Ul faeqerdl Sieaue of Ufaay 50 e & Udd g (e dRishH U & Bl |

3. U faeTery U o1 3U- Farbrd H 40 U¢ & Fdd gitid [dd™ B G & sl
4. Tagerdl U@ & U Uad gid Ao SRisH Hawd el o

(Option 1[45161]) 1
(Option 2 [45162]) 2
(Option 3[45163]) 3

(Option 4 [45164]) 4
Answer Given by Candidate : 1

Sl. No.16
QBID:9016

Which of the following is not an example of ‘reflective teaching' ?

1. Writing journal

2. Reading textbook

3. Gathering feedback from students
4. Recording a class

(Option 1 [45165]) 1
(Option 2 [45166]) 2
(Option 3 [45167]) 3
(Option 4 [45168]) 4

fofaRad & ¢ o Ria=ia e @1 1@ Sasu I8l 6 2

1. 9d aE

2. UTeagid® 96

3. @A U UfayfP urd &
4. ®ef @1 Rpitan

(Option 1[45165]) 1
(Option 2 [45166]) 2
(Option 3 [45167]) 3

(Option 4 [45168]) 4
Answer Given by Candidate : 4

Sl. No.17
QBID:9017

Who is the writer of famous book "Foundations of Education (1926)"7

1. William Kilpatrick
2. John Dewey

3. Ralph W. Tyler

4. Hollies Caswell

(Option 1 [45169]) 1
(Option 2 [45170]) 2
(Option 3 [45171]) 3



(Option 4 [45172]) 4

IS T "BISUSTH 1B TdhH (1926)" B 0GP DI 6 ?

1. faferm i
2. 9 St

3. UH S TG
4. giferg HHaq

(Option 1 [45169]) 1

(Option 2 [45170]) 2

(Option 3 [45171]) 3

(Option 4 [45172]) 4
Answer Given by Candidate : 4

Sl. No.18
QBID:9018

Which of the following is NOT a source for curriculum design?

1. Science as a source

2. Economy as a source
3. Society as a source

4. Knowledge as a source

(Option 1[45173]) 1
(Option 2 [45174]) 2
(Option 3 [45175]) 3
(Option 4 [45176]) 4

Fofaad 4 O oF Ueged di@a ST Ad el 6 7

1. 91d & wu H fag=
2.9 & ©9 F sfaaen
3.9 d & ¥ U H 9E e
4.9 & ETHFE

(Option 1 [45173]) 1

(Option 2 [45174]) 2

(Option 3 [45175]) 3

(Option 4 [45176]) 4
Answer Given by Candidate : 2

Sl. No.19
QBID:9019

Technical-Scientific curriculum developers focused upon

1. Subjective
2. Personal
3. Universal
4, Aesthetic

(Option 1 [45177]) 1
(Option 2 [45178]) 2

aspect.



(Option 3 [45179]) 3
(Option 4 [45180]) 4

TP 11T UToushH & [9e B3 aral + Fefiiad Sve o W EF $iad o

1. fawnfg
2. gt
3. graifa®
4. GiedR®

(Option 1 [45177]) 1
(Option 2 [45178]) 2
(Option 3 [45179]) 3

(Option 4 [45180]) 4
Answer Given by Candidate : 3

Sl. No.20
QBID:9020

Which of the following is not a basic principle suggested by Tyler?

1. Determine the teacher's purposes

2. Identify educaticnal experiences related to those purposes
3. Ascertain how the experiences are organized

4. Evaluate the purposes

(Option 1 [45181]) 1
(Option 2 [45182]) 2
(Option 3[45183]) 3
(Option 4 [45184]) 4

fFrafafad # 9 @ 23er gR1 G U 9R fgidl § § te Joyd RGid a8 g ¢
1. Fr&/® & 3==dl @1 HeR
2. 34 S gl 4 Yafid W& srgHal &1 ugaH

3. YA & WIS/ TaYd B & kil bl GHEd S
4. 3e=dl D1 Hlld

(Option 1 [45181]) 1
(Option 2 [45182]) 2
(Option 3 [45183]) 3

(Option 4 [45184]) 4
Answer Given by Candidate : 1

Sl. No.21
QBID:9021

When 'between-groups variance' is substantially greater than the ‘within-groups variance’, the difference between the
means may be ascribed only to:

1. Sampling error

2. Measurement error
3. Constant error

4. Chance error



(Option 1 [45185]) 1
(Option 2 [45186]) 2
(Option 3 [45187]) 3
(Option 4 [45188]) 4

e Ue! & dfd faavu), Tt & e @ a0 ¥ Iwie-1a w0 U e § o 71l & o ofdk dad f69 9 RIf%d 8 gdal

%
1. e e 9
2.HA AR Y
3. Foaafe w
4. ¥aR AT

(Option 1 [45185]) 1
(Option 2 [45186]) 2
(Option 3 [45187]) 3

(Option 4 [45188]) 4
Answer Given by Candidate : 2

Sl. No.22
QBID:9022

Which of the following is a principle of experimental research design?

1. Maximizing treatment variance

2. Minimizing error variance

3. Maximizing error and minimizing treatment variance
4. Maximizing treatment and minimizing error variance

(Option 1[45189]) 1
(Option 2 [45190]) 2
(Option 3 [45191]) 3
(Option 4 [45192]) 4

fafafea o 3 - uEife 2y A & Aaa e 2

1. IR faRU & Sf¥dmad &A1

2. 3fe fGeRur &t THTH e

3. Ff R0 @l HfYHTH BT 3R ITIR G0 & FAad BT
4. IUAR faero &1 if¥idas &3 3R Ffe fqaRu &l a0 S

(Option 1[45189]) 1
(Option 2 [45190]) 2
(Option 3 [45191]) 3

(Option 4 [45192]) 4
Answer Given by Candidate : 4

Sl. No.23
QBID:9023



In a given score distribution of 12,14,16,18 and 20, the sum of square deviation is:

1.12
2.24
340
4. Zero

(Option 1[45193]) 1
(Option 2 [45194]) 2
(Option 3 [45195]) 3
(Option 4 [45196]) 4

U U faaRu 12, 14, 16, 18 AR 20 H F AT w1 AT B

1.12
2.24
3.40

4.9

(Option 1[45193]) 1

(Option 2 [45194]) 2

(Option 3 [45195]) 3

(Option 4 [45196]) 4
Answer Given by Candidate : 3

Sl. No.24
QBID:9024

The maximum value of reliability coefficient of a certain test is:

1. with in a range of +1.00
2. between 0.00 to 1.00

3. +1.00

4. -1.00

(Option 1 [45197]) 1
(Option 2 [45198]) 2
(Option 3 [45199]) 3
(Option 4 [45200]) 4

Uoh AT giar o faRg-iadr Auis &1 iU ad Iod 8l Udhdl ¢ :

1. 1,00 ® WA & Al
2.0.00¥ 1.00 T EF

3. +1.00

4. -1.00

(Option 1 [45197]) 1
(Option 2 [45198]) 2
(Option 3 [45199]) 3
(Option 4 [45200]) 4
Answer Given by Candidate : 1



Sl. No.25
QBID:9025

A teacher is attempting to help students question and challenge domination, the beliefs and practices that dominates them.

In this way, teacher is trying to connect knowledge to power and the ability to take constructive action. What is this
educational approach called?

1. Pedagogical analysis
2. Dialogue methed

3. Critical pedagogy

4. Pedagogy

(Option 1[45201]) 1
(Option 2 [45202]) 2
(Option 3[45203]) 3
(Option 4 [45204]) 4

UP HEIUS ST B 34 UHE!, [GyrEl 3R sHagRi, Sl 39 1R W@ oAU §U &, U WY 38 SR 3 Il o H Serdl &
B U B 81 © | 39 oRe U 98 I &I Wad 9 SiTe- 3R IgE® B &3 & &Hdl 96 &1 5 a8l e 39 A&
JUFH &I 1 Hel old & 2

1. Tr&iur Sy fa=eim
2. darg fafe

3. HAGIES Q&0 2R
4. TEngmor T

(Option 1 [45201]) 1
(Option 2 [45202]) 2
(Option 3 [45203]) 3
(Option 4 [45204]) 4
Answer Given by Candidate : 2

Sl. No.26
QBID:9026

Which one of the following code describes the 'Directions, Commands or Orders to which a pupil is expected to comply’ as
per Flander's Interaction Category system?

1. Category 5
2. Category 7
3. Category 3
4. Category 6

(Option 1 [45205]) 1
(Option 2 [45206]) 2
(Option 3 [45207]) 3
(Option 4 [45208]) 4



TS @1 o Far 4uft soaw & R MEfaiad d ¥ o 91 @ 54l 3 aRT SUféa SrureH & o FaRl, e o)
ST &1 Ui Bl & ?

1. §uft 5
2. 907 7
3. it 3
4. 907 6

(Option 1 [45205]) 1
(Option 2 [45206]) 2
(Option 3 [45207]) 3
(Option 4 [45208]) 4
Answer Given by Candidate : 1

Sl. No.27
QBID:9027

If a teacher gives scores to correct responses in a class-test and enlists total marks of each learner, he/she has done:

1. Assessment

2. Measurement

3. Evaluation

4. Value Judgement

(Option 1[45209]) 1
(Option 2 [45210]) 2
(Option 3 [45211]) 3
(Option 4 [45212]) 4

gic i3 g bl Har-uRien 5 g1 Tk W 3 odl & AR 2 &Ml & $d Wil & Ydiss ®dl 8, d 38
ufciiad WW%

1. 3THa

2. | 104

3. i

4. geg-FuRo

(Option 1 [45209]) 1

(Option 2 [45210]) 2

(Option 3 [45211]) 3

(Option 4 [45212]) 4
Answer Given by Candidate : 2

Sl. No.28
QBID:9028

Which among the following is a purpose of a display portfolio?

1. To diagnose the difficulty areas of learners

2. To demonstrate highest level of achievement attained by learners
3. To document students's learning of specific learning outcomes

4. To demonstrate mastery of learners in any curricular area.

(Option 1 [45213]) 1
(Option 2 [45214]) 2
(Option 3 [45215]) 3



(Option 4 [45216]) 4

fFrafeiad 4 9 o yeaiH Udnifid] &1 35ja 8 ?

1. Frenfifat & Sf&E ard e &1 FaH

2. TR1entdal gRT U @1 5 S=dd Iudis &I Ha=iA

3. fafary sftrm-uidwe & ded O SEl & ifE &1 siiicdie
4. UTeu=Et & foddl & o Ruanfifat &1 Fgurar @1 wesH

(Option 1 [45213]) 1

(Option 2 [45214]) 2

(Option 3 [45215]) 3

(Option 4 [45216]) 4
Answer Given by Candidate : 2
Sl. No.29
QBID:9029

Which among the following is a school management tool being used by Kendriya Vidyalayas?

1. Shaala Siddhi
2. Shaala Darpan
3. NISHTHA

4. Vyas

(Option 1[45217]) 1
(Option 2 [45218]) 2
(Option 3[45219]) 3
(Option 4[45220]) 4

$eg fqeaal g1 Aafafad & O iy fagrag ude= Sus<u & T fGar s 3l 6 2

1. el il
2. X7TE gU
3. Fm
4.

(Option 1[45217]) 1

(Option 2 [45218]) 2

(Option 3 [45219]) 3

(Option 4 [45220]) 4
Answer Given by Candidate : 4

Sl. No.30
QBID:9030

Which among the following is not an example of asynchronous learning environment?

1. You Tube Videos

2. Pod casts

3. Video conferencing
4, Discussion forum

(Option 1[45221]) 1
(Option 2 [45222]) 2



(Option 3 [45223]) 3
(Option 4 [45224]) 4

STEAPIC® AT TaERy & Fgiiiad 5 9 SH 91 U9 SeeiU 6l & ?

1. Jea difsars
2. UIEdrey

3. difedl BisRT
4. 91 H59

(Option 1 [45221]) 1
(Option 2 [45222]) 2
(Option 3 [45223]) 3
(Option 4 [45224]) 4
Answer Given by Candidate : 3

Sl. No.31
QBID:9031

The Computer Assisted Learning (CAL) packages are based on which psychological learning theory?

1. Cognitivist

2. Constructivist
3. Behaviourist
4, Connectivist

(Option 1 [45225]) 1
(Option 2 [45226]) 2
(Option 3 [45227]) 3
(Option 4 [45228]) 4

SR Y AU (@ T Ud) Uord forg TAtaqiae Risid R amuiRa g & 2

1. GHarG!
2. Eygmarg!
3. ggRArGt
4. Heyardt

(Option 1 [45225]) 1
(Option 2 [45226]) 2
(Option 3 [45227]) 3

(Option 4 [45228]) 4
Answer Given by Candidate : 1

Sl. No.32
QBID:9032

Which among the following believes in networked learning?

1. Behaviourism
2. Cogpnitivism

3. Constructivism
4. Connectivism

(Option 1 [45229]) 1



(Option 2 [45230]) 2
(Option 3 [45231]) 3
(Option 4 [45232]) 4

ELINIEER ff'\afﬁ:[ Tord HiEH (Networked Learning) H fayrg S % ?

1. dgRdIg
2. gfHarg
3. YI9-1EIg
4. GEEarg

(Option 1 [45229]) 1
(Option 2 [45230]) 2
(Option 3 [45231]) 3

(Option 4 [45232]) 4
Answer Given by Candidate : 3

Sl. No.33
QBID:9033

Which of the following implies the ‘refreeze’ step of Lewin's change management model?

1. Communicate a change
2. Execute a change

3. Plan a change

4. Reinforce a change

(Option 1 [45233]) 1
(Option 2 [45234]) 2
(Option 3 [45235]) 3
(Option 4 [45236]) 4

afafad & ¢ feoad ofga & uRady useE fHegl &1 s @ siafHkd & 2

1. UGS @1 TUld &

2. IacH @ BEi-ad d
3. UREcH @1 a1 daR @Al
4. f¥gcH @1 gHs e

(Option 1 [45233]) 1
(Option 2 [45234]) 2
(Option 3 [45235]) 3

(Option 4 [45236]) 4
Answer Given by Candidate : 4

Sl. No.34
QBID:9034

Six Sigma focusses on the enhancement of the following through DMAIC as a data-driven quality methodology:

1. Process
2. Product
3. Purchase
4. Power



(Option 1 [45237]) 1
(Option 2 [45238]) 2
(Option 3 [45239]) 3
(Option 4 [45240]) 4

e Rpar U Ser-Yaniord Turadl Sy & © 0 5 S TH U 35 O & 319 Y fd IR GH disd $dl & ?

1. UishT
2.3dlq
3.9

4, e

(Option 1 [45237]) 1
(Option 2 [45238]) 2
(Option 3 [45239]) 3
(Option 4 [45240]) 4
Answer Given by Candidate : 1

Sl. No.35
QBID:9035

As per the National Education Policy-2020, Professional Standard Setting Bodies will be the members of the following:

1. National Accreditation Council

2. Higher Education Grants Council

3. National Higher Education Regulatory Council
4. General Education Council

(Option 1[45241]) 1
(Option 2 [45242]) 2
(Option 3 [45243]) 3
(Option 4 [45244]) 4

AP TR i (T € W) 2020 F 3FIER HGHES TS FuRo Fem @iheHe €3 4=8 42 1) feus gcxg g

1. TP UAH UREg

2. IR a1 e uikug

3. WETE Ao R fafoma aikeg
4. |H faram uiwg

(Option 1[45241]) 1
(Option 2 [45242]) 2
(Option 3 [45243]) 3

(Option 4 [45244]) 4
Answer Given by Candidate : 1

Sl. No.36
QBID:9036



In educational management as a system:

1. processes are unpredictable.
2. processes are mechanical.

3. outputs are uniform in nature.
4. inputs are not same.

(Option 1 [45245]) 1
(Option 2 [45246]) 2
(Option 3 [45247]) 3
(Option 4 [45248]) 4

U& UUITCll & &4 H Afid Taeq 7 -

1. UTRATE UG 8idl &

2. Ufspart Tifie gt

3. Frfd afa & ve gHF BId B
4. 3NTd UF §9H ol 8id 81

(Option 1 [45245]) 1
(Option 2 [45246]) 2
(Option 3 [45247]) 3
(Option 4 [45248]) 4
Answer Given by Candidate : 1

Sl. No.37
QBID:9037

In which of the following educational policy/act of India, Indian sign language for teaching and monitering is involved?

1. NPE-1986
2. RPwD-2016
3. NEP-2020
4. PwD-1995

(Option 1 [45249]) 1
(Option 2 [45250]) 2
(Option 3 [45251]) 3
(Option 4 [45252]) 4

HIRd @1 Fafaiad H ¥, g Dige -ifay stz e ud ssmEun @R g YR o He 9k g 2

1. T3, - 1986

2. HRUI S5l - 2016
3. TAE L - 2020

4. Ul gsg 3l - 1995

(Option 1 [45249]) 1
(Option 2 [45250]) 2
(Option 3 [45251]) 3
(Option 4 [45252]) 4
Answer Given by Candidate : 4



Sl. No.38
QBID:9038

Inclusive education:

1. Encourages strict admission procedures

2. Celebrate diversity in classroom

3. Includes indoctrination of facts

4. Includes teachers from marginalized groups

(Option 1[45253]) 1
(Option 2 [45254]) 2
(Option 3 [45255]) 3
(Option 4 [45256]) 4

TRl e

1. BAR UaT Ulehdl &1 Uidlied @Xdl ol

2. T o fafquar & weiar Hi 8

3. 7 @i e ¥ oRIfUd &l gl

4. 3uifad g O et &1 itd o 2

(Option 1[45253]) 1
(Option 2 [45254]) 2
(Option 3 [45255]) 3

(Option 4 [45256]) 4
Answer Given by Candidate : 2

Sl. No.39
QBID:9039

Which of the following statements is not correct with reference to Assistive Technologies (AT) in general:

1. Leads to greater autonomy in all spheres of life.
2. Aids in sustaining self-motivation.

3. Promote inclusion at home and community.

4. Helps in attaining increased dependence.

(Option 1 [45257]) 1
(Option 2 [45258]) 2
(Option 3 [45259]) 3
(Option 4 [45260]) 4

Te® do-id (A & Ted fomg wu d, i d S e T HyI 98l d8i & 2

1. i & T S 7 e R B R d 9 8l
2. HIH-IRY B §1¢ 1@ H Gerid] Bl ¢

3. 9R U4 TG X YUIGeH &I 9814l adl 8|

4. 951 g5 a1 @ uid @ § 146G ®edl g

(Option 1 [45257]) 1
(Option 2 [45258]) 2
(Option 3[45259]) 3

(Option 4 [45260]) 4
Answer Given by Candidate : 2



Sl. No.40
QBID:9040

Which among the following responsibilities of a teacher is related to behaviour management of children with disabilities?

1. Establishing weekly time-table

2. Evaluate student's progress, either individually or as a group

3. Plan positive shaping interventations and supports for whole class and for individual students
4. Reviews the IEP regularly with the support staff

(Option 1 [45261]) 1
(Option 2 [45262]) 2
(Option 3 [45263]) 3
(Option 4 [45264]) 4

f:zaddr ard 9= & AgeR UetH & o s &t 71 el © 2

1. WTiE® Grg-Tiol Ayt &=

2. dufdad a1 9Mfed ©U ¥, el @1 wifd &1 geaied

3. Ol BET IR dgiaae [aenfeal & U S@RIE® FRUER] §aay Ud Serdl &1 HaieH
4. YR SHIHTl B HGE U T3 3 Ul &1 Tad A&

(Option 1 [45261]) 1
(Option 2 [45262]) 2
(Option 3 [45263]) 3

(Option 4 [45264]) 4
Answer Given by Candidate : 4

Sl. No.41
QBID:9041

Which of the following purposes have been served by family as a social institution?
A. It socializes children.

B. It provides practical and emotional support for its members.

C. It establishes a goal of sacial equality.

D. It regulates sexual reproduction.

E. It provides its members with a social identity.

Choose the correct answer from the options given below:

1.A, C DandE only
2.A, B, DandE only
3.B,Cand D only
4.C, D and E only

(Option 1 [45265]) 1
(Option 2 [45266]) 2
(Option 3 [45267]) 3
(Option 4 [45268]) 4



U gt SI1 & U # URaR FafaRad 7 9 fied 35=al &1 gfd s g ?
A. T8 T=1 @I JHES1E0 S &

B. U U< ol &I oAIggIe Ud HIaidd 9949 UgH Sl g
C. I8 9HIToid GHHdI & 18D o1 R0 H3dl o
D. U8 O Ui & o @t gl

E. U8 U UG &1 Udh GHISd UgdH UEH &dl gl
rd feu e fawedl f O Ugl S g -
1.PAAA, C, D AR E
2. BIAA, B, D3R E

3. ®aAB, C AR D
4.HAAC, D AR E

(Option 1 [45265]) 1
(Option 2 [45266]) 2
(Option 3 [45267]) 3

(Option 4 [45268]) 4
Answer Given by Candidate : 2

Sl. No.42
QBID:9042

Which of the following statements are true?

A, Study of problem of freedom comes under metaphysics.
B. Study of empiricism comes under Epistemology.

C. Induction method falls under the purview of logic.

D. A priori knowledge falls under Axiclogy.

E. Concept of God falls under Epistemology.

Choose the correct answer from the options given below:

1. A, Band Conly
2.B, Cand D only
3.C, Dand E only
4. A, DandE only

(Option 1 [45269]) 1
(Option 2 [45270]) 2
(Option 3 [45271]) 3
(Option 4[45272]) 4



FodEdd e oY 981 8 7

A. TG DI THE BT YA Ted HHE B 3l 1 g

B. IHTAIG B A FH HIHH & &ATUGR & favid M1dl g
C. ST USd A & &SR & SAcHid Sl g1

D. Yd-3H H{aIRd & Sfaiid ATl g
£ 3R &1 HehodAl T HIHMI & Sfald 1l 31
i fgu 7Y foeenl © ¥ 98l Iw g :

1. 3AT A, B AR C

2.%au B, C AR D

3.®aaC, D ARE
4. HAAA, D AR E

(Option 1 [45269]) 1
(Option 2 [45270]) 2
(Option 3 [45271]) 3

(Option 4 [45272]) 4
Answer Given by Candidate : 1

Sl. No.43
QBID:9043

Which of the following statements are true?

A. Sankhya means the Philosophy of right knowledge (Samyak khyati)

B. Sankhya is a pluralistic spiritualism and an uncompromising dualism

C. Right knowledge is the knowledge of the association of the Purusha with the Prakriti
D. Shankaracharya regards sankhya as a main ‘'main opponent’ of Vedanta

E. The view of sankhya yoga is called Prikiti-arambhavada

Choose the correct answer from the options given below:

1. A, B and E only
2.B, Cand D only
3.A Band D only
4. A, Cand Eonly

(Option 1 [45273]) 1
(Option 2 [45274]) 2
(Option 3 [45275]) 3
(Option 4 [45276]) 4



BN R e R L R i
A. G &1 30 § T §H (SHE SHT) BT g

B. G 3-dhald! UHdIG Ud Ud Hfdag gd &

C. U IH, T3Y &1 Udhid I AR &1 JH &
D. AHRTar] 3 TR Tl daid &1 T fuelt Ter
£. Gl 01 & R &1 Upld-ReHae &gl &idl
Fra far e fawedl F @ T SR A
1.%ad A, B AR E
2.9 B, C AR D

3. WaAA, B AR D
4. HAAA, CHRE

(Option 1 [45273]) 1
(Option 2 [45274]) 2
(Option 3 [45275]) 3

(Option 4 [45276]) 4
Answer Given by Candidate : 2

Sl. No.44
QBID:9044

Yashpal Committee Report (2009) advocated for:

A. Proliferation of deemed universities

B. Promoting privatisation of Higher Education

C. Curriculum Reforms

D. Fullfledged University status to IIT and [IM

E. Establishing National Commission for Higher Education
Choose the correct answer from the options given below:

1. A, Band Conly
2.B, Cand D only
3.C, Dand E only
4. D, Eand A only

(Option 1 [45277]) 1
(Option 2 [45278]) 2
(Option 3 [45279]) 3
(Option 4 [45280]) 4



TeUTe WAk &1 ufdded (2009), A HyfdiEd § U feg & e &t 7
A. OFe fayfqeradl & UgRal
B. e & & Feliorvl & HicTe
C. UIadadl gUR
D. 3TS. 3MTs. E1. 3R TS 3MTS. TH. B YU [eyfaeed & 9 H Al
E. P IR FRAEMT AT BT WG
i fgu 7Y foeenl © ¥ 98l Iw g :
1. 3AT A, B AR C
2.%au B, C AR D

3.®aaC, D ARE
4.HAAD, E AR A

(Option 1 [45277]) 1
(Option 2 [45278]) 2
(Option 3 [45279]) 3
(Option 4 [45280]) 4
Answer Given by Candidate : 3

Sl. No.45
QBID:9045

The Kothari commission recommended:

A. Part-time and correspondence courses should be discouraged at university stage
B. Science education and research should receive high priority

C. Establishment of school complexes

D. Secondary education should be largely vocationalised

E. In non Hindi speaking states, use of Hindi should be discouraged.

Choose the correct answer from the options given below:

1. A, Band Conly
2.B, Cand D only
3.C, Dand A only
4. A, DandE only

(Option 1 [45281]) 1
(Option 2 [45282]) 2
(Option 3 [45283]) 3
(Option 4 [45284]) 4



DISRI AT 47 S & -
A. TEHEIag & &R R SIS 2R THER UISTHH| P gdielied [dl SHI e
. a9 @1 e 3R e B I WS &l o1 g
C. faereg dpd &1 =UAT
D. Hefid a1 B HfYHaH Yd TR a6 AaUiidhd 6l SHT AUl
£. TR-Tedl Wl Il H, el &1 wai galaied a1 <1 Fisy|
i fgu 7Y foeenl © ¥ 98l Iw g :
1. 3AT A, B AR C
2.%au B, C AR D

3. WA C D AR A
4. HAAA, D AR E

(Option 1 [45281]) 1

(Option 2 [45282]) 2

(Option 3 [45283]) 3

(Option 4 [45284]) 4
Answer Given by Candidate : 2

Sl. No.46
QBID:9046

What is NOT Counselling?

A. Giving information

B. Giving suggestions

C. Influencing client's values, attitudes, beliefs

D. Bringing voluntary change

E. Giving warmth to client

Choose the correct answer from the options given below:

1. A Cand D only
2.A, Band Conly
3.B, D and Eonly
4.C,Dand E only

(Option 1 [45285]) 1
(Option 2 [45286]) 2
(Option 3 [45287]) 3
(Option 4 [45288]) 4



WRE AR ?
A GG
5. GG &l
C. TS (Hil5e) & Gedi, TAGRET R fayrdl & guifad S0
D. Wiwsd TU Y URacH T
£, TT8® (Fge) DI T8d Bl
i fgu 7Y foeenl © ¥ 98l Iw g :
1. ®a A, C IR D
2.Bau A, B HR C

3. @3B, D ANE
4.HAAC, D AR E

(Option 1 [45285]) 1
(Option 2 [45286]) 2
(Option 3 [45287]) 3
(Option 4 [45288]) 4
Answer Given by Candidate : 4

Sl. No.47
QBID:9047

Creative pupils are at higher risk of-

A. Exploitation

B. Disengagement

C. Ignorance

D. School dropout

Choose the correct answer from the options given below:

1. A and B enly
2.B and C only
3.Band D only
4. Cand D only

(Option 1 [45289]) 1
(Option 2 [45290]) 2
(Option 3[45291]) 3
(Option 4 [45292]) 4



goRiid gl IR @1 iY@ SeH glar g

A, TH0T

B. SFETHdI

C. A

D. faeITera @ (31T 13T

i feu e fowenl H 9 981 9w 9
1.%ad A 3R B
2. hae B AR C

3. ®dd B 3R D
4.%dd C 3R D

(Option 1 [45289]) 1
(Option 2 [45290]) 2
(Option 3[45291]) 3

(Option 4 [45292]) 4
Answer Given by Candidate : 3

Sl. No.48
QBID:9048

The National Policy on Education (NPE-1986) recommended the launch of centrally sponsored schemes of teacher
education. Which of the following institutes are the outcome of this scheme?

A. DIETs

B. RIEs

C.CTEs

D. IASEs

E. TLCs

Choose the correct answer from the options given below:

1.A, B and E only
2.A CandD only
3.B,Cand E only
4.B, Cand D only

(Option 1 [45293]) 1
(Option 2 [45294]) 2
(Option 3 [45295]) 3
(Option 4 [45296]) 4



fRrem &t gt Hifd @ 01 5-1986) 7 S e & b3 gRT VAT aioHIE URY S e &1 | Fafafead F 4 aH-9
T 3G TioiT & IR & 2
A SlAE3A
B. 3.3 3.
c. gidls.
D. AR TTHE,
£, AaHn
i fgu 7Y foeeul 4 98l Iw g :
1. Pa0 A, B AR E
2.Bau A, CHRD

3. ®aa B, C HRE
4. HaAB, C AR D

(Option 1 [45293]) 1
(Option 2 [45294]) 2
(Option 3 [45295]) 3
(Option 4 [45296]) 4
Answer Given by Candidate : 1

Sl. No.49
QBID:9049

Why is the professional development of teachers required?
A. To expand the knowledge domain of subjects

B. To get entry in teaching profession

C. Enactment of policies and schemes

D. Due to changing pedagogy

E. To meet personal financial requirement

Choose the correct answer from the options given below:

1.C, D and E only
2.A, CandEonly
3.B, Cand E only
4. A, Cand D only

(Option 1 [45297]) 1
(Option 2 [45298]) 2
(Option 3 [45299]) 3
(Option 4 [45300]) 4



HLUD! & IS fabTH B HagHdl &l § ?
A Tawg & 9 &7 § e 8

B. {4 HJHY ¥ Ud¥ &g

c. il SR AremTs @ 9FL X B

=y

D. URGdITe RIEUEIT & SR
£. AfderTd fa<iig eaxg@aredt &1 gfd &g
T feu U f9seul 5 § 981 I 3
1.0 C, D 3R E
2.0 A, C HRE

3. ®dd B, C ARE
4.Had A, CHRD

(Option 1 [45297]) 1
(Option 2 [45298]) 2
(Option 3 [45299]) 3
(Option 4 [45300]) 4
Answer Given by Candidate : 4

Sl. No.50
QBID:9050

What are the four basic questions raised by Ralph Tyler for curriculum planning?
A. What educational goals are to be attained?

B. What instructional materials are needed for attaining the goals?

C. How the methods and strategies are to be organised?

D. How will attainment of goals to be evaluated?

E. What learning experiences are to be provided for attaining the goals?

Choose the correct answer from the options given below:

1.A, B, Cand D only
2.A, C DandEonly
3.C,D, Eand B only
4. A, B, DandE only

(Option 1 [45301]) 1
(Option 2 [45302]) 2
(Option 3 [45303]) 3
(Option 4 [45304]) 4



UTeushH i & oY I egeR gRISeN T aR Hayd W FEH 4@ 9 g2
A B U Qe Teg Ui fpu I § 2

B. T80 U B3 & oY DI SRS Il &1 HATaDhdl § ?

c. fafert ofiR Yurifcral &1 Y Tad e I € 2

D. T&dT H1 U &1 Ychid & gl 2

E. T80 It @ & [ & U Hfidhdd 3+ IUdel AT TH G ?

=Tl feu U fededl H ¥ Wel 9ok I :

1. BadA, B, CHR D
2.®ddA, C DIARE
3.$9AC, D, E AR B
4. ®HdAA, B, DIRE

(Option 1 [45301]) 1
(Option 2 [45302]) 2
(Option 3 [45303]) 3
(Option 4 [45304]) 4
Answer Given by Candidate : 1

Sl. No.51
QBID:9051

Select the steps used in curriculum designs-

A. Selection of learning experiences

B. Detailing the budget

C. Formulation of objectives

D. Diagnosis of needs

E. Selection of appropriate human resources

Choose the correct answer from the options given below:

1.A, B and E only
2. A Band Conly
3.A, Cand D only
4.C, D and E only

(Option 1 [45305]) 1
(Option 2 [45306]) 2
(Option 3 [45307]) 3
(Option 4 [45308]) 4



